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int vec[4]
int *link;

={0,1,2,3);

link = vec;
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a). *ink

b). *(link+2)

¢). *link[3]
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6. 3HATIE A 75T B call by reference &) 7 &, o — J 81 1ﬁ 5 i % F 4 A return by reference
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7. (15%)F 51 % Java 42 %, 4%
class A { public void bar() { System.out.printin{ “A” }; } }
class B extends A { public void bar() { System.out.printin( "B” ); } }
BE L ERA TS
Atest = new B();

test.bar();

a). # 7K & Java method #8488 sk € (determined statically) » NAF L @ BT X EEEPE ?
b). # P A &4 Java method #% § K& 5 & (determined dynamically)» A8 L R AT 2 X &GP ?
c). f& Java g X P - A o5 0% M method 0% 5% 4% A& 5k & (determined statically) ?

8. 8). fi(A)Java 2 X 1 $hiF “new A" & Ep B AR 2 (5%)
b). fi(B)Java 2 XA AT “new Child()” -+ & & B4FAE 7 (5%)

}

class A |

staticinta = 0;
inth =a++,
{
a=a+
}
staticintc = a;
static {
a=a+5;
)
intd =a;

public AQ) {
System.out printin( "a ="

+a),
System.out.printin("b =" + h );
System.out.printin{"c =" + ¢ };
System.out.printin("d =" + d );
}
static {
a=a+9,
}

class Parent {
public Parent() {
System.out.printin{ "PP");

{
System.out.printin( "P");

}
class Child extends Parent {
{

System.out.printin( "CC"),

}

public Child( |
super();
System.out.printin( "C");
}
}
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B)




RILKE OB R ERIEFTHBEARAARIR (2

A5 RMIESAZSm © #MBE R KX B ¥

BWABHT TV,
tEm |
AREE o AM0 1/2 "

o 3% sum(n)=2+4+6+8+ -« +n
a). M CHXETH for 80K A& sum(n) » (5%)
©b). WA C #2 K387 )ik @ 7 KR F ab ik B sum(n) - (5%)
o). MMM C A2 53 H 4B 2 A e H 1045 ub i 3 sum(n) - (5%) l

2. BEAREERYE x Ry HFEESH @ CELT IO D LR BN EE ST -
). WH B HBH swap() #) C R XBER R L FR - (5%)
b). 8 Lo {7 ok o ab B B Y 42 K A8 © (5%)

3.(15%) AFAHCHETRABHT LR
struct BB { char x; int y; };

typedef struct B A; - ' BYLC

struct { A a; A *next; } aa; ”

struct { struct B a; struct B *next; } bb;

struct { struct B a; struct B *next; } cc;

Aa;struct B b,
FRALMEEA T Y ARARE | G508 7 BRRIERE -
a).a=b,

b). aa = bb;

c). bb=cc;
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int ABClint x) { x = x + x + x; return x; } int ABC(int &x) { x = x + x + X; return x; }
void main() { int x = 5; y = 10; y = ABC(x); void matn() { int X = S,y = 19; y =="A_BC(x);
cout <<"x =" << X <<y =" <<y, cout << X =" << x <<"y=" <<y,
(a). (b).

2). f£#A7(@) P main(k Beik o R HE 2 (%)
b). #ATO) P main() R Bk - B4R 7 (%)
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